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Question Number : 1 Question Id : 68634038285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A @1 fgeiest &1 et g1 e € -

1. 7Iiq arel &

2. UgadHl & s Bt

. JeqdH @i glad &l
4. wTforar &t

Options :

686340151201. 1

686340151202. 2

686340151203. 3
686340151204. 4
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Question Number : 2 Question Id : 68634038286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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686340151205. 1
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Question Number : 3 Question Id : 68634038287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 4 Question Id : 68634038288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 5 Question Id : 68634038289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340151217. 1
686340151218.2
686340151219. 3
686340151220. 4

Question Id : 68634038284 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634038285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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686340151203. 3
686340151204. 4
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Question Number : 2 Question Id : 68634038286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340151205. 1
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Question Number : 3 Question Id : 68634038287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340151209. 1

686340151210. 2

686340151211.3
686340151212. 4

Question Number : 4 Question Id : 68634038288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340151213. 1
686340151214. 2
686340151215.3
686340151216. 4

Question Number : 5 Question Id : 68634038289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

686340151217. 1
686340151218. 2
686340151219. 3
686340151220. 4

Sub-Section Number : 2
Sub-Section Id : 6863401259
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634038290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340151221. 1
686340151222. 2
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686340151224. 4

Question Number : 6 Question Id : 68634038290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340151221. 1
686340151222. 2
686340151223. 3
686340151224. 4

Question Number : 7 Question Id : 68634038291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340151225. 1
686340151226. 2
686340151227. 3
686340151228. 4

Question Number : 7 Question Id : 68634038291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340151225. 1
686340151226. 2

686340151227. 3
686340151228. 4

Question Number : 8 Question Id : 68634038292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340151229. 1
686340151230. 2
686340151231. 3
686340151232. 4

Question Number : 8 Question Id : 68634038292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634038293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340151233. 1
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| ]

e

Question Number : 9 Question Id : 68634038293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340151233. 1
686340151234. 2
686340151235.3
686340151236. 4

Question Number : 10 Question Id : 68634038294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340151237. 1
686340151238. 2
686340151239. 3
686340151240. 4

Question Number : 10 Question Id : 68634038294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340151237. 1

686340151238. 2

686340151239. 3
686340151240. 4

Question Number : 11 Question Id : 68634038295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340151241. 1
686340151242. 2
686340151243. 3
686340151244. 4

Question Number : 11 Question Id : 68634038295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340151241. 1
686340151242. 2

686340151243. 3
686340151244. 4

Question Number : 12 Question Id : 68634038296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340151245. 1
686340151246. 2
686340151247. 3
686340151248. 4

Question Number : 12 Question Id : 68634038296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tad go! 94T ddls 3i1d @, (oS SUanT 16 1Y 65 99T, o 1 31 4 1t o5 9 &1 das &1 A= & fau
feraT off gaar 8 |

16 Hl
o5 gH
3,65 9Hf
4. 45 941
Options :
686340151245. 1
686340151246. 2
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Question Number : 13 Question Id : 68634038297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340151249. 1
686340151250. 2
686340151251. 3
686340151252. 4

Question Number : 13 Question Id : 68634038297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340151249. 1
686340151250. 2
686340151251. 3
686340151252. 4

Question Number : 14 Question Id : 68634038298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340151253. 1
686340151254. 2
686340151255. 3
686340151256. 4

Question Number : 14 Question Id : 68634038298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340151253. 1
686340151254. 2
686340151255. 3
686340151256. 4

Question Number : 15 Question Id : 68634038299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340151257. 1
686340151258. 2
686340151259. 3
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Question Number : 15 Question Id : 68634038299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634038300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634038300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340151261. 1
686340151262. 2
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Question Number : 17 Question Id : 68634038301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340151265. 1
686340151266. 2
686340151267. 3
686340151268. 4

Question Number : 17 Question Id : 68634038301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340151265. 1
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686340151267. 3
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Question Number : 18 Question Id : 68634038302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YT (i) T O e
(if) TS Yol F Tl 61
(i) Gl ST R B
o : (1) P& i ufal §
(I1) B Yuci e 31
(III) S el 9oil g |
(IV) PO A A€
frafafea 2 @ el fawea o1 gy |
1. a9 I 3R I 3R Fd 6|
2. Tad 11 3R 111 3R & ¢
3. &ad 111 SR IV STHR0 $Rd ¢ |
4. Haq I AR IV SHTIRI H §
Options :
686340151269 1
686340151270. 2
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Question Number : 18 Question Id : 68634038302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340151269. 1
686340151270. 2
686340151271. 3
686340151272. 4

Question Number : 19 Question Id : 68634038303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634038303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340151273. 1
686340151274. 2
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Question Number : 20 Question Id : 68634038304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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| B

L]

Fe.

Question Number : 20 Question Id : 68634038304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 21 Question Id : 68634038305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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TG 39
3. TG 40
4. AT 48
Options :
686340151281. 1
686340151282. 2

686340151283. 3
686340151284. 4

[ ]

Question Number : 21 Question Id : 68634038305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR Hlaur & f6d sr=sa H Y=rad 6l &1 H] 6] Wae= ¢ 2
1. =54 36
 3T=54 39
3. AT 40
4. TG 48
Options :
686340151281. 1
686340151282. 2

686340151283. 3
686340151284. 4

| ]

Question Number : 22 Question Id : 68634038306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=i 1 1 g= 11 ¥ e S

A1 T
(TP &1 A1) (ﬁvﬁﬁrm
A. My Truth . [ArEe i
B. |The Broken Wings 11 [31ad i
C. My Experiments with Truth| 111 [SRIGH] A58
D. [Exam Warriors V. [33= Hid]
FafaRad fdeeal & 9 98t Gk &1 98- S .

1. A-IV, B-III. C-I. D-IT

| ]

CA-IIL B-IL C-1, D-IV
3. AL B-IIL C-L D-IV
4. AL B-IIL. C-IV. D-I

Options :

686340151285. 1
686340151286. 2
686340151287. 3
686340151288. 4

Question Number : 22 Question Id : 68634038306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

it 1 1 gl 11 ¥ e Sifsg
el 1 e 10
(TP BT TH) (ﬁ@ﬁmqm)

A My Truth e Tl

B. |The Broken Wings 11 [Efer s

C. My Experiments with Truth 111, [H4 EElE g

D. [Exam Warriors V. 5= J-IIt."-_-\I
Fafaad [doedl § O Ugl 3R &1 994 Bl ;

1. A-IV. B-II1. C-1. D-II

| ]

AL B-IL C-1 D-IV
3 AL B-IIL, C-1. D-IV
4. A-IL B-IIL. C-IV. D-1

Options :

686340151285. 1

686340151286. 2
686340151287. 3



686340151288. 4

Question Number : 23 Question Id : 68634038307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UfemaTs Wal § ¥9ul eiid- arelt ggelt HRAg sfgar s g 2

1. Ot 3w
2. R feeg
3. PTGl HY
4, W A

Options :

686340151289. 1

686340151290. 2

686340151291. 3
686340151292. 4

Question Number : 23 Question Id : 68634038307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UfemaTs Wal § ¥9ul eiid- arelt ggelt HRAg sfgar s g 2

1. Ot 3w
2. R feeg
3. PTGl HY
4, W A

Options :

686340151289. 1

686340151290. 2

686340151291. 3
686340151292. 4

Question Number : 24 Question Id : 68634038308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o gl Py Ry T R Ay AT TU H G0 8 I SUS SR RSB FTH

frpyT A - Xt o geem &9 § gedl 6

TR R : A0 T Ul & faggq g gidl 8

SR B & SATald 0, =14 [0 T [deed ¥ § 99w SUgad S<R &1 99 HIVU |
1. A SRR EF 90 § SR R, A B Ug| IRAT §

A RRIFE GAE, AP R, AT Hel oI Tal ©

AT R AR ST

4 ANTIEAPIRTAR

| B

[F5]

Options :

686340151293. 1
686340151294. 2
686340151295. 3
686340151296. 4

Question Number : 24 Question Id : 68634038308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 g 2 [GU T & U@y A w0 [alad ¢ df 9% 9% SRUT R & U 4 g

STUDYT A MU T daa g &3 0 gl 5

HROT R : ST G Ul & fIgyq T=aa gidi o

SRS HYH & el O, 14 [4U U [ddvedl & 9aw SUgad SR & 99 BT |
1. A SRR E I E HRR. A DI U5l ARAT§

A SRR S 9@ 8, Al R, A BT G81 AR T8l ©

ATTE AR G

4 AT EAPIRTT

| B

L]

Options :

686340151293. 1
686340151294. 2
686340151295. 3
686340151296. 4

Question Number : 25 Question Id : 68634038309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fRaeEfarme:

%mm;mﬁdqum Ale AR THTE SR H T A1 aTell JEl 3R UaTg & U H a1 siral
[

YA : T Pl b GRIA fernge 3R Fa 9uft & fegfira oigd o1 v gsn g |

SR HY= & ATdle o, A4 50 70 fgswed # § 99w SUad SR &1 99 HIT |

1. BYT RIS g6
2. FYA 1 AR IS AT ©

3. FYTI IS, AfpTpuT I 3T B

)

4. PYTI 3T e, AT PUT I I &

Options :

686340151297. 1
686340151298. 2
686340151299. 3
686340151300. 4

Question Number : 25 Question Id : 68634038309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A G EURI PR
gﬁx;@waﬂt{c@ﬂ die AR SETE I H T WS arel Gl 3R uare & w9 § foar s
[

FYT I : T 1A b aRM [epge 3R Fa 4oft & f9efia simd o1 gsn g |

SWiad BY & Hdlle 4, 4 f4u 70 fdsed] & O g Suged TR &1 904 S |
1. FYF 1SR SH T

2. DY AR GHI 3T 7

3. FYTI IS, AfpTuT I 3T ©

)

4. PYTI 3T e, AT PUT I I &

Options :

686340151297. 1
686340151298. 2
686340151299. 3
686340151300. 4

Part B: Chemistry
Section Id : 686340754
Section Number : 2
Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401260
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634038310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following compound is ionic in nature and soluble in water?

1. 1-Bromocyclohepta-2.4.6-triene

J

. 3-Bromohepta-2.4.6-triene
3. 3-Bromopenta-1.4-diene
4. 1-Bromocyclopenta-2.4-diene
Options :
686340151301. 1
686340151302. 2

686340151303. 3
686340151304. 4

Question Number : 26 Question Id : 68634038310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 5 O o 9ife siaf-e Upld & qur &ie | fao g2
1. l-ﬁtglﬁladﬂlﬂﬁl-l.fﬂr.ﬁ-@éﬁ
2. 3-SHIGPI-2.4,6-C15 1

3, 3-FHTUCT-1,4-ST5

)

4. 1-SH IS aAU<l-2.4-851

Options :

686340151301. 1
686340151302. 2
686340151303. 3
686340151304. 4



Question Number : 27 Question Id : 68634038311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To generate molecular orbitals in molecules consisting of three or more atoms. which of the following is
correct

1. Group orbitals are first generated by combining atomic orbitals with same symmetry

| B

. Group orbitals are first generated by combining atomic orbitals with different symmetry.
3. Group orbitals can be treated as molecular orbitals of the molecule,
4. LCAO method can't be applied.

Options :

686340151305. 1

686340151306. 2

686340151307. 3
686340151308. 4

Question Number : 27 Question Id : 68634038311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T SruaT SO TR aTe sl 7 SA10ae B Sad B & U FH T I SH IR § 2
1. ] Hefeh JH GHHT & IR Sepl o SR gRI UYH 399 6id 6|
2. 37 B S FHHTT & URHI] Haeh! o TN GRI WYY 30F Bid 6|
3. T GHEI Bl UL & N0qE Bed B ae AH THd B
4. LCAO faft wge T8l e ¥ad ©

Options :

686340151305. 1
686340151306. 2
686340151307. 3
686340151308. 4

Question Number : 28 Question Id : 68634038312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 60 W electric heater was immersed in a gas taken in a constant-volume adiabatic container and it was
switched on for 150s. The temperature of the gas increased by 50 °C. The heat capacity of the gas is

1. 1.8 kT K1

Ararieet

| B

3 18IK!

4.3237kTKL

Options :

686340151309. 1
686340151310. 2
686340151311. 3
686340151312. 4

Question Number : 28 Question Id : 68634038312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R s $a Mo o ot 15 T 8 60 w BT [9g7d giex 5o 5l § aul 78 150s & g =1g faean
T T BT A9 50° ¢ Y giE TR T T 31 9w ©

1. 1.8 kT K1
2.32371K!
3. 181K
4.3237kTKL
Options :
686340151309. 1
686340151310. 2

686340151311. 3
686340151312. 4

Question Number : 29 Question Id : 68634038313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



In nonpolar aprotic solvent which of the following will act as strongest base?
1 : :

&

| S

»

Options :

686340151313. 1
686340151314. 2
686340151315. 3
686340151316. 4

Question Number : 29 Question Id : 68634038313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HedT eiifee fae= o 99 & U S Jad 4R &1 B Bal o

NH2

| o]
Ty
'_____—-"'

N
H
3.
N
H
4.
Options :

686340151313. 1
686340151314. 2
686340151315. 3
686340151316. 4

Question Number : 30 Question Id : 68634038314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: For a binary solution the chemical potential of one component of the mixture cannot change
mdependently of the chemical potential of the second component.

Reason R: nyduy +ngdug =10

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct

Options :



686340151317. 1
686340151318. 2
686340151319. 3
686340151320. 4

Question Number : 30 Question Id : 68634038314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 3l B2 [T T &, U MUY (Assertion A) B U T [¢119d § Gl THIU 3D DRI (Reason R) B
FO .

HIUFYT A: TP G fGag T Yo & ue 9§ Huce o1 I [Gya g8 § 9ucs & I9ae
fua &) wWda =9 3 ufkad 78 I gFdr g

PRI R: n4duy +ngdug =0

SURIFd DY & 3elis 5, [ U T fas el § 3 969 S9ged IR & 99 B
1. A R R A T8 € AR R. AT HE] AT &

A TR R g1 921 € IR R. A & 96l T el ©

AT AR TSR

AT TS e APTIRTE

Options :

686340151317. 1
686340151318. 2
686340151319. 3
686340151320. 4

| ]

Laa

e

Question Number : 31 Question Id : 68634038315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Van Arkel-De Boer process for purification of metals is based on thermal instability of

1. Sulphates

-2

. Phosphates

. Todides

5]

4. Oxides

Options :

686340151321. 1
686340151322. 2
686340151323. 3
686340151324. 4



Question Number : 31 Question Id : 68634038315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

i SR of 4R [a1Y fige ardiy Tt R S o1 & e & AU gl

4. S

Options :

686340151321. 1
686340151322.2
686340151323. 3
686340151324. 4

Question Number : 32 Question Id : 68634038316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the total number of stereoisomers in the following molecule.

¥
e “'\.-
\“\“I .. ﬁ
I

R

[ )
b

4 8

Options :

686340151325. 1
686340151326. 2
686340151327. 3
686340151328. 4

Question Number : 32 Question Id : 68634038316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g 3o & fAfdw gurggadr &1 oo =1 §di5U -

s o
A
o kfj
’ 5]

1.2

[
.

4.8

Options :

686340151325. 1
686340151326. 2
686340151327. 3
686340151328. 4

Question Number : 33 Question Id : 68634038317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the relation between the following pair of compounds?

NH, H

alll H HQN Il

HOOC H C»)' HOOC HC 3

1. Enantiomers
2. Homomers

3. Identical

4. Diastereomers

Options :

686340151329. 1
686340151330. 2
686340151331. 3
686340151332. 4

Question Number : 33 Question Id : 68634038317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frofafaa afte & gm @ s ddy e

NH, H
){I HzNQ\

H
HOOC ne, HOOC HC,
1. ufdfde &u
2. BIHIR
3. Iy
4. 3yfdfde =g

Options :

686340151329. 1
686340151330. 2
686340151331. 3
686340151332. 4

Question Number : 34 Question Id : 68634038318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a particle in a square box of side ' and quantum numbers n;=1. n,=2. the most probable location of
tinding the particle is

! {
1. X==—, y==—
2"7 "%
2 A‘:—IIF_ ]_’:i
4 © 2
) / /
3 ,‘{:—'1 Y= -
27 2
4 x——!i y——f
' 4’ 4
Options :

686340151333. 1
686340151334. 2
686340151335.3
686340151336. 4

Question Number : 34 Question Id : 68634038318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

U B0 & 7 Y&l o 1l alef] § qUT Pl S n,=1. n,=2 BVl o U SH I iepad duifad Rl g

! /

]_ X== e

e

/ /

2. _:ll:—1 =

A 2

] / /

3 A==, V==

27 12

/ [

4. x=—, y=—

4 4
Options :

686340151333. 1
686340151334. 2
686340151335. 3
686340151336. 4

Question Number : 35 Question Id : 68634038319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

The molar volume of an ideal gas at 500 K and 100 bar is 0.416 dm® mol™!. Under the same conditions the

. . " q o] (i . " . .
molar volume of carbon di oxide is 0.366 dm> mol™!. Based on this information which statement is correct for
carbon dioxide.

1. Repulsive forces and attractive forces are equal
2. Attractive forces dominate repulsive forces
3. Repulsive forces dominate attractive forces
4, Carbon dioxide is behaving like an ideal gas.
Options :
686340151337. 1
686340151338. 2

686340151339. 3
686340151340. 4

Question Number : 35 Question Id : 68634038319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U 1S9 719 BT 500 K TUT 100 bar T HIGR HTTH 0.416 dm® mol™! 81 T fUTT & S8R AoES
BT AT AT 0.366 dm’ mol™! §1 57 IRIRET & YR TR Se-als AFISS & 60 T8l FUT & -

1. WIS E0 S0 9T STHYUl ¢ & o
1Y §d Uide U 99 IR guid §
3. yfdeeur aa 3N 99 R GHIE §

4. BIETSIE SFTS e 719 P dig IdsR S I6l &
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Options :

686340151337. 1
686340151338. 2
686340151339. 3
686340151340. 4

Question Number : 36 Question Id : 68634038320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The examples of chain silicate and sheet silicate respectively are

1. Diopsite, Spodumene

[ ]

. Kaolinite. Pyrophyllite

L¥ 5]

. Diopsite, Biotite
4. Muscovite, Pyrophyllite
Options :
686340151341. 1
686340151342. 2

686340151343. 3
686340151344. 4

Question Number : 36 Question Id : 68634038320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
ejygeT fferdre auT Yiie [idde & Saexv S & -
feaimarge, wigdH
. DifeHEe. URIBIEAEe
fEsiiearge. aEege
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Options :

686340151341. 1
686340151342. 2
686340151343. 3
686340151344. 4

Question Number : 37 Question Id : 68634038321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two liquid components 'A' and 'B' are mixed together to form 1deal binary solution. Select the true options for
this solution.

A. A-B interactions are equal to A-A and B-B interactions.
B. AV =0.

X
C. Both the components follow Duhem Margules's equation.
D. They have same vapour pressure.

Choose the most appropriate answer from the options given below:
1. A B and C only
2. A. BandD only
3.A CandD only

4.B. C and D only

Options :

686340151345. 1
686340151346. 2
686340151347. 3
686340151348. 4

Question Number : 37 Question Id : 68634038321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HaUd 'A' TUT'B' & & 50 Bl AT G oy a9 & fore fofdg fear o 81 299 foru 9 fawey
P TG DU -

A. A-B 3-0-Gf$ar A-A 94T B-B 3-01afhar & sweaR
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D. d THH a1 31§ W |

i faU U g edi © 9§ Tl 3T &1 99 BIfIU;
1. Had A, B 3R C

. PaA A BARD

3.%adA.C IR D

4. Had B, C AR D
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Options :

686340151345. 1
686340151346.2
686340151347. 3
686340151348. 4

Question Number : 38 Question Id : 68634038322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The radius ratio of Si*™ : O is 0.29 suggesting a coordination number of 4 for silicon in
silicates.

Statement IT: S10 44_ ion is a tetrahedral jon in which Si is sp’ hybridized.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

|

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement I is incorrect

4. Statement I 1s incorrect but Statement II is correct

Options :

686340151349. 1
686340151350. 2
686340151351. 3
686340151352. 4



Question Number : 38 Question Id : 68634038322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G R EUR] P

YL Si*: 02 B S 3UId 0.29 & ol [&fcrere O A= & (o0 4 G- S8 &1 Wilidd &l
gl

HYF II: Si0, " 310 U Iqh a4 S0 ¢ [59H Si sp’ BN ¢

SWIad BY & e H, 19 Ru Y [dmedi & 9 w8l St &1 9 DI
1. Y1 AR I GH 9 ©

YA 1 R 11 ST S §

3. FYTI TR, AfbT YT I 3T &

-2

4. BYT 3T 8. AT P n 90 e

Options :

686340151349. 1
686340151350. 2
686340151351. 3
686340151352. 4

Question Number : 39 Question Id : 68634038323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a nucleophilic substitution reaction proceeding via Sy;2 mechanism. which among the following will act as

good leaving group?
1. CN™
2. N5
A
4. CH;C00™
Options :
686340151353. 1
686340151354. 2

686340151355. 3
686340151356. 4

Question Number : 39 Question Id : 68634038323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.CN™

[

N3~

5 0 8

4. CH;COO™
Options :
686340151353. 1
686340151354.2

686340151355. 3
686340151356. 4

Question Number : 40 Question Id : 68634038324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In HCI molecule. the molecular orbitals will be formed by combining

1. 1s (H). 1s (CD)

| ]

. 1s (H), 25 (Cl)
3. 1s(H), 35 (CI)
4. 1s (H). 3p, (CI)

Options :

686340151357. 1

686340151358.2

686340151359. 3
686340151360. 4

Question Number : 40 Question Id : 68634038324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HCl U H, fad 9919 9 3Hftas Sae d-71

.1s (H). 1s (CI)

f—t

[ ]

. 1s (H), 2s (CD)

. 1s (H). 3s (C])

Lad

e

. 1s (H). 3p, (C1)



Options :

686340151357. 1
686340151358. 2
686340151359. 3
686340151360. 4

Question Number : 41 Question Id : 68634038325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For equimolar solutions of acetic acid, dichloroacetic acid and trichloroacetic acid, the depression in freezing
point 1s maximum for

1. dichloroacetic acid

[ ]

. acetic acid

. trichloroacetic acid

LF¥]

4. same for all

Options :

686340151361. 1
686340151362. 2
686340151363. 3
686340151364. 4

Question Number : 41 Question Id : 68634038325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

URGICe 3. SIRaaRIURICH i gl ZRaaRIUNICH SF & THe] [doa &I [gHi® a0 [bdd
o1 S H Bl

e S Y oF e Y

 SEaaRuaReE 3
Uffes s

3. TR aAIRINNIC® 3
4. gl & feru 9HE

ik

b

Options :

686340151361. 1
686340151362. 2
686340151363. 3
686340151364. 4

Question Number : 42 Question Id : 68634038326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following anions on reaction with alkyl halide favor elimination over substitution, if effect of
solvent is considered negligible?

1. Bi™

2.C;H0™

3.1

4. CH;CO0™
Options :
686340151365. 1
686340151366. 2

686340151367. 3
686340151368. 4

Question Number : 42 Question Id : 68634038326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & T S BUEH Ued sags 9 Ao nfaway & oy 9wy & wyfiea smafe
facrae® &1 yyIg g gifd & -

1. Br™

| B

.C,H,0
iy

4. CH;CO0™

Options :

686340151365. 1
686340151366. 2
686340151367. 3
686340151368. 4

Question Number : 43 Question Id : 68634038327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Predict the major product in the following reaction.

Cl
/@: Alkali_

O.N NO,

1. 2.4-Dinitrophenol

|

. 1.3-Dinitrobenzene

(#%]

. 3.5-Dinitrophenol
4. 2.4.6-Trinitrophenol

Options :

686340151369. 1
686340151370. 2
686340151371. 3
686340151372. 4

Question Number : 43 Question Id : 68634038327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frgfeiRaa sitifhar § g0 Sare IR iad ST

Cl
/@: Alkali

N NO,

O

1. 2.4-SRATSC B

| ]

. 1.3-STETEclg o

. 3.5-SEAGCIPA

[¥%]

Options :

686340151369. 1
686340151370. 2
686340151371. 3
686340151372. 4

Question Number : 44 Question Id : 68634038328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When two phases are in equilibrium:

A. Chemical potential of two phases i3 same.
B. There is no change in Gibb's free energy.
C. Temperature of two phases are same.

D. Pressure of two phases are same.

Choose the most appropriate answer from the options given below:
1. Aand D only
2. B and D only
3. Aand C only

4. All of above

Options :

686340151373. 1
686340151374. 2
686340151375. 3
686340151376. 4

Question Number : 44 Question Id : 68634038328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oid & yaRI urE H g

A. B WA= BT I Gy gaE ©
B. 9 fires 3o & 30 afkadH TEd &

C. S TaRTait &1 IT9EH 99 §

D. T WawT3fi &1 /e THHE &

- feu U ool & 9 981 3R &1 904 St
1. %ad A IR D
2. %ad B ARD
3.PaqAAARC
4. SURIad gt

Options :

686340151373. 1
686340151374.2
686340151375. 3
686340151376. 4

Question Number : 45 Question Id : 68634038329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
25% of a first order reaction completes in 2.1 x 10% s. How much time is required to complete the reaction?
1.2.1x10%s

.84 x10%¢

[ ]

3.42x 1012
4. Infinity

Options :

686340151377. 1
686340151378. 2
686340151379. 3
686340151380. 4

Question Number : 45 Question Id : 68634038329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Ty Bife Hfar 1 25% QUi 819 & [0 2.1 = 108 s T €1 3iTHfehan &1 qul 814 & o fovan 5y
1fgu?

1.2.1 x 10%%s

| B

84x10%s
3.42 =10t
4.3

Options :

686340151377. 1
686340151378. 2
686340151379. 3
686340151380. 4

Question Number : 46 Question Id : 68634038330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Constder the electrode potential diagram for Cl.

CI0; —036, clo; —230, o ¢ 1088 |

Identify the species capable of disproportionating m aqueous solution.

1. ClO4~ only

| S

. ClO5™ and OCI™
3. 0CI and CI”

4. CI” only

Options :

686340151381. 1
686340151382. 2
686340151383. 3
686340151384. 4

Question Number : 46 Question Id : 68634038330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C1 % ToU Soiaers fayg 3E I fogR i

Clo; 36 3 (:[('}3' +0.50 s O Cl +0.88 51

ooty fqoe & sragrara- < arell T @f ggaH Sifey |
1. %ad ClO,

2. Clo;~ Ul OCI

3.0CI duIcr-

4. Had CI-

Options :

686340151381. 1
686340151382. 2
686340151383. 3
686340151384. 4

Question Number : 47 Question Id : 68634038331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Benzyne bond is formed by the

1. sp>-sp overlap
2. p-p overlap
3. sp*-p overlap
4. sp-sp overlap

Options :

686340151385. 1

686340151386. 2

686340151387. 3
686340151388. 4

Question Number : 47 Question Id : 68634038331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

galgy o [ gd gRIgdT & -
 sp-sp’ 3ifcearas

. PP ifdenrg=

. spo-p Sfcearg=

. Sp-Ep 3ifema=

—t

[ B8}

[F5]

e

Options :

686340151385. 1
686340151386. 2
686340151387. 3
686340151388. 4

Question Number : 48 Question Id : 68634038332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The properties used for calculating Pauling's electronegativity and Mullikan electronegativity. respectively are
1. Bond energy. IE + EA
2. IE. Bond energy + EA
3.1IE + EA. Bond energy

4. Bond energy. Bond energy

Options :
686340151389. 1



686340151390. 2
686340151391. 3
686340151392. 4

Question Number : 48 Question Id : 68634038332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uit &1 faggassurdr aul gicie & [dgyd FUIaT &I TUHET & [ wged ToieE B o
1. §%] 391, IE + EA
2. IE. §%/ Il + EA
3.1E + EA. S Gl
4. S 1, &= 34l

Options :

686340151389. 1
686340151390. 2
686340151391. 3
686340151392. 4

Question Number : 49 Question Id : 68634038333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For the reaction

Rate of the reaction is:

;. A[N2Os] 1 A[NO, |
At A
5 _ANOs] 1 A[NO,]
At 2 At

. A[0] _ A[NO,]

At At
% _A[0;] _ A[NO, |
At At
Options :

686340151393. 1
686340151394. 2
686340151395. 3



686340151396. 4

Question Number : 49 Question Id : 68634038333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

frafafad sififear & fog

AP B R &

A[N20s] _ 1 A[NO, |

1
At 2 At
5 _ANOs] 1 A[NO,]
At 2 At

. Al0;] _ A[NOy]

At At
4 _A0,] _ A[NO, |

At At

Options :

686340151393. 1
686340151394. 2
686340151395. 3
686340151396. 4

Question Number : 50 Question Id : 68634038334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: To form interstitial alloys. the radius ratio of smaller atom/larger atom should be in the range
0.414-0.732.

Statement II: Two different metals having metallic radii differing only by 10% but similar crystal structures
can form a good alloy.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statemient IT are correct

(]

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is mecorrect

4. Statement I is incorrect but Statement II is correct

Options :
686340151397. 1



686340151398. 2
686340151399. 3
686340151400. 4

Question Number : 50 Question Id : 68634038334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G R LRI PR

SYA I: S<RGRI e 597 & g B¢ IRAN)as 9o S w8 3UTd 0.414-0.732 IR 0 g1
el

DY IL: &1 779 o1 [T afeds B35 10% 9 59 8, o 9 fobed gl 8, sral [Hsfeng &
Pl g

SRIad FYF & ald H, Ard [ e fdsedi § I gl 3o &1 984 S ITIG;
1. BYT IR IS G §
FYF 1R GH TS

FYT I T e, AP R I 3T ©

| )

L¥¥]

e

HYT I, AT PU I I §

Options :

686340151397. 1
686340151398. 2
686340151399. 3
686340151400. 4

Question Number : 51 Question Id : 68634038335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Deduce the structure of the product in the following reaction

(]j(}jin (‘![(.‘ls
Zn dust 3

J

0
1\
P

Y

OH

o o

Q
0 OH
N )J\+
L

O

e

Options :

686340151401. 1
686340151402. 2
686340151403. 3
686340151404. 4

Question Number : 51 Question Id : 68634038335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafead siftfchar § Sarg o1 H3aT offddd BT - H gRes

(Im_;m ('!H('.'13
Zn o dust

!u.a
o

L¥¥]
-
et

O 0

)
o OH
\\\/\)J\OH + >—O
S8
OH O
Options :

686340151401. 1
686340151402. 2
686340151403. 3
686340151404. 4

=~

Question Number : 52 Question Id : 68634038336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the major product in the following reaction.

N(CH,),

Conc HNO,
—_—
ConcH,50,

N(CH;),

P

2. N(CH,),

NO,

N(CH,),

: NO,

4. N(CH;),

N
Options :

686340151405. 1
686340151406. 2
686340151407. 3
686340151408. 4

4

Question Number : 52 Question Id : 68634038336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fiataa sfifea § gur sae #) usE S

N(CH.),
-5 HNO,
% H,50,

CH,

1 N(CH,),

O,N
CH,

2. N(CH,),
NO,
CH,

3. N(CH,),
: NO,
NO,

4. N(CH,),

7_\7'0_,_
Options :

686340151405. 1
686340151406. 2
686340151407. 3
686340151408. 4

Question Number : 53 Question Id : 68634038337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the major product in the following reaction.

CH3MgRr
L
OH Dy dicthy lether
1.

OCH;

3. C,Hg
4.CH,

Options :

686340151409. 1
686340151410. 2
686340151411. 3
686340151412. 4

Question Number : 53 Question Id : 68634038337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafeiad aififerar ¥ I3 31 &1 U89 - X5 SIRUdd 5UR

CH3MgBr
OH sk SR R

[ —

% o
[9] O
& =

Options :

686340151409. 1
686340151410. 2
686340151411. 3
686340151412. 4

Question Number : 54 Question Id : 68634038338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Select the option which is correct about photochemical reaction:

A. Temperature has very little effect on rate of reaction.

B. The presence of light is the primary requirement.

C. AG may be positive or negative for spontaneous photochemical reaction.
D. Photochemical reaction always involves emission of light radiation.

Choose the correct answer from the options given below:

1. A and B only
2.A.Band D only
3. A.Band C only
4. All of above

Options :

686340151413. 1

686340151414.2

686340151415. 3
686340151416. 4

Question Number : 54 Question Id : 68634038338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U TS IEE sififdar & aN & o fdee 98l

A. TR B &R WR 19T 1 9gd SH UHE ISl 6
B. U@ 1 Sufufy unufies snavaswsar g

C. Iad: U IS HfUfEar & 0 Ac Furas aul YTES o Iadl &
D, U g sififear & shgn yew fafew safda sidi 1

- feu U faedl & O 981 3R &1 944 St
1. $ad A IR B

. PaT A BIARD

3.PIAAB AR C

4. SURIad T

Options :

686340151413. 1
686340151414. 2
686340151415. 3
686340151416. 4

b2



Question Number : 55 Question Id : 68634038339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The galvanic cell with the cell reaction

Meg(s) + 2Ag™ (0.001M) — Mg?™ (0.65M) + 2Ag(s)

18 correctly represented as

1. Mg®* (0.65 M) | Mg [[Ag™ (0.001 M)| Ag

2

. Mg | Mg”* (0.65M) [|Ag| Ag" (0.001 M)

3. Mg®* (0.65 M) | Mg | Ag | Ag" (0.001 M)

4. Mg | Mg®* (0.65M) | Ag™ (0.001 M)| Ag

Options :

686340151417. 1
686340151418.2
686340151419. 3
686340151420. 4

Question Number : 55 Question Id : 68634038339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Teafe O & 49 a3 7 B
Mgf(s) + 2Ag™ (0.001M) — Mg?™ (0.65M) + 2Ag(s)

28 e do o7 96l Uem ¢ -

1. Mg”* (0.65 M) | Mg [[Ag" (0.001 M)| Ag

| ]

. Mg | Mg”* (0.65M) [|Ag| Ag" (0.001 M)
3. Mgt (0.65 M) | Mg || Ag | Ag™ (0.001 M)

4. Mg | Mg™ (0.65M) || Ag" (0.001 M)| Ag

Options :

686340151417. 1
686340151418. 2
686340151419. 3
686340151420. 4



Question Number : 56 Question Id : 68634038340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following orders are correct for noble gases?

A. Solubility in water He < Ne < Ar<Kr<Xe

B. Boiling points He< Ne <Ar < Kr < Xe

C. Chemical reactivity He > Ne =Ar > Kr > Xe

D. Enthalpy of vaporisation He > Ne > Ar > Kr > Xe
Choose the correct answer from the options given below:

1. A and B only

2. B and C only

3.B and D only

4. A and D only

Options :

686340151421. 1
686340151422.2
686340151423. 3
686340151424. 4

Question Number : 56 Question Id : 68634038340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o0 B9 Sy T & U gg pu 82

A AT G000 He < Ne < Ar < Kr = Xe

B. YD He<Ne <Ar < Kr < Xe

C. TS fHfbariieidl He > Ne >Ar > Kr > Xe
D. TIEdl @1 T He > Ne = Ar = Kr > Xe

e feu U fasedl & 9 981 3R &1 904 Bl
1. ¥ad A R B
2. $auB AR C
3.%ddB 3RD
4. AT AR D

Options :

686340151421. 1
686340151422. 2
686340151423. 3



686340151424. 4

Question Number : 57 Question Id : 68634038341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The moving boundary method yields more accurate data on transference number than does the
Hittort method.

Reason R: In moving boundary method. indicator electrolyte has same anion as principal electrolyte and 1s
placed at the bottom due to its higher density.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 158 NOT the correct explanation of A
3. A is correct but R is not correct

4. A i1s not correct but R is correct

Options :

686340151425. 1
686340151426. 2
686340151427. 3
686340151428. 4

Question Number : 57 Question Id : 68634038341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 H2F QU U §. U S UT (Assertion A) & =0 1 [A11Ed € T I 39% BRI (Reason R) &
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Options :

686340151425. 1
686340151426. 2
686340151427. 3
686340151428. 4

Question Number : 58 Question Id : 68634038342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Deduce the structure of the corresponding alcohol which shows the following reaction

CeHy40; — 194, CH4CHO + CH3CH,CHO + HCOOH

OH

OH OH

OH OH

s

OH

Ol

Ol

:

OH

OH

%

OH OH

Options :

686340151429. 1
686340151430. 2
686340151431. 3
686340151432. 4

Question Number : 58 Question Id : 68634038342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TITd Ueadled &1 9eaA1 o FHmee sstfone o fgfefag s vefdia s 8.

CeH 403 —24 5 CH4CHO + CH;CH,CHO + HCOOH

OH

OH OH

OH OH

%

OH

[

Ol

L¥%]

1l
OH

0
s \/\]/\/
OH OH

Options :

686340151429. 1
686340151430. 2
686340151431. 3
686340151432. 4

H

Question Number : 59 Question Id : 68634038343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The correct combination of enzyme and metal ion at the active site is

1. Hemoglobin (Fe?™ ). Carboxypeptidase (Zn™ ). Carbonic anhydrase Cu®")

| S

. Hemoglobin (Fe®™), Carboxypeptidase (Cu”"). Carbonic anhydrase (Zn>™)

[#¥]

. Hemoglobin (Fe?™ ), Carboxypeptidase (Zn®" ). Carbonic anhydrase (Zn®")

. Hemoglobin (Feg'_' ). Carboxypeptidase (2112_ ). Carbonic anhydrase [anj

i

Options :
686340151433. 1



686340151434. 2
686340151435. 3
686340151436. 4

Question Number : 59 Question Id : 68634038343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ir ®ITE IR USTEH quT UTq &1 96! 909 §

 RAalfad (re27 ). Taldd QUGS (Zad™ ). FIEIHE UHelEe9d Cu)
ferraifed (7). TR GPTS oW (Cul™). BIE® TTeBegd (Znd)
ferraifed (re?™ ), Pala UPIESH (2a?)., PIEIP TTEIZES (Z02)

FRamaifed (7). Faldl UURSY (za2). BIEHE UTeI569d (Zod)

ey

[ B

L]

oY

Options :

686340151433. 1
686340151434.2
686340151435. 3
686340151436. 4

Question Number : 60 Question Id : 68634038344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Identify the infrared active molecules from the following

AN,
B.NO
C.CO
D.CO,

Choose the correct answer from the options given below:

1. A. B and C only
2.B.C and D only
3.B and C only
4. B and D only

Options :

686340151437. 1

686340151438. 2

686340151439. 3
686340151440. 4



Question Number : 60 Question Id : 68634038344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 T 9 s wiey Suisli 1 ugaH Sifeu

AN,

B.NO
C.CO
D. CO,

e fau U fas et §f © el TR &1 99 B
1. $ad A. B 3R C

. PAAB. C AR D

. Pa B AR C

4.%dd B 3R D

Options :

686340151437. 1
686340151438. 2
686340151439. 3
686340151440. 4

[ )

L¥¥]

Question Number : 61 Question Id : 68634038345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identity the class of the following reaction.
o
[‘/‘ OH

-

N

=3 200°C

] ——

1. Aromatic Nucleophilic Subsititution

| )

. Aromatic Electrophilic Substitution
3. Nucleophilic Elimination addition reaction
4. Pericyclic reaction

Options :

686340151441. 1

686340151442. 2
686340151443. 3



686340151444. 4

Question Number : 61 Question Id : 68634038345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

fog aifisfopar & ggam Sifo -

= OH
;\T 200°C
_\\\‘]/ > S

WrAfew Aifie Tl ufdeurgs sifvfear
AR faaig= gvrst sifdfear

ErEiRTe sifdfear

Options :

686340151441. 1
686340151442. 2
686340151443. 3
686340151444. 4

—

[ )

L¥¥]

s

Question Number : 62 Question Id : 68634038346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Kronecker delta is defined by

1.6y =2.n=kanddy =2.n#k

]

2.8 4=3.n=kanddy =3, n+k
3.0 =1l.n=kanddy=0.n#k
4.6, =0.n=kandoy =1.n#k

Options :

686340151445. 1
686340151446. 2
686340151447. 3
686340151448. 4

Question Number : 62 Question Id : 68634038346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Correct Marks : 4 Wrong Marks : 1

BIHDR Socl e gRT gRyI™g far amar &

l.og=2.n=kanddy =2.n#k

[

opp=3.n=kandoy =3 n#k

Lad

O =1l.n=kanddy =0.n#k
4.0 =0.n=kand oy =1.n#k

Options :

686340151445. 1
686340151446. 2
686340151447. 3
686340151448. 4

Question Number : 63 Question Id : 68634038347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of C-O stretching frequency bands observed for M(CO)s: M{(CO);L; (fac-1somer). M(CO);L5 (mer-

isomer). respectively are:

1.3.2.1

| ]
(Y
L]
-J

Options :

686340151449. 1
686340151450. 2
686340151451. 3
686340151452. 4

Question Number : 63 Question Id : 68634038347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



M(CO): T IHHTTHT M(CO);L; TP JHGTT M(CO)3L; & [AH ¢-0 T Sgia 88 &1 e
B8 |

1.3.2.3

[ ]
| EArY
[P N]

2

g R TR

Options :

686340151449. 1
686340151450. 2
686340151451. 3
686340151452. 4

Question Number : 64 Question Id : 68634038348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The following reaction undergoes via and is known as reaction,

/——©—OH CHCI3, Alkali /_QOH

CHO

1. Carbene. Reimer-Tiemann
2. Carbocation, Kolbe

3. Carbene, Kolbe
4. Carboeation. Reimer-Tiemann

Options :

686340151453. 1
686340151454. 2
686340151455. 3
686340151456. 4

Question Number : 64 Question Id : 68634038348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Prafafad siftfear & AT I Bl & qUT Y Hed ol

" L CHCLy, &R -
/—@OH CHCl5, &R14 >//_QU”

CHO

1. FIfa, ISR ST

2. BEYTTA, Bies
3, Plfe. Ples

4. PIIYATTA, AGH A

Options :

686340151453. 1
686340151454.2
686340151455. 3
686340151456. 4

Question Number : 65 Question Id : 68634038349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct product formed in the following reaction

113(‘ CH,
g Fut H' (dil H,S0,)
~ = e T
H;C— € —C — CH, A =l
o i
H,C on
CH, CH
3 3
1. I |

{ o)
9]
Il
~

CH, CH,

3 | |
HiC - C — C - CH;

o’

H,c O
~
4. HC-C-C-CH,

H,C

Options :

686340151457. 1
686340151458. 2
686340151459. 3
686340151460. 4

Question Number : 65 Question Id : 68634038349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafeRaa sifdar § gel 3T &1 997 I

H;C CH,
. /7 HT(WHS0,)
HiE~ §=—E8—EH; A s
s ™~
I, C OH
. TE

[
]
I
]

CH; CH,

3 | |
HyC - C - C — CH;,

0
H,C O
",
4, HyC-C—-C—CH,
H,C

Options :

686340151457. 1
686340151458. 2
686340151459. 3
686340151460. 4

Question Number : 66 Question Id : 68634038350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: For Na~ | K™ pump. the active ion transport involve three Na~ expelled out for two K™ ions
intake across the cell membrane.

Statement II: Binding of K™ induces phosphorylation of ADP to ATP.
In the light of the above statements, choose the mosr appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement I 15 incorrect

4. Statement I is incorrect but Statement IT is correct

Options :



686340151461. 1
686340151462. 2
686340151463. 3
686340151464. 4

Question Number : 66 Question Id : 68634038350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEE $?_F[ﬁ'[{1'ﬂ:{%";

%ﬂﬁl::\:a‘:K‘W%WWWW@&WW%W@K‘@%W%M‘WGﬁ
|

HYF II: K~ & 69 T ADP BT ATP & BIBINGIV 309 81al 5
SWRIFd BYF & el |, =i U 7Y fawedi § 9 96l 9wk &1 99 Dife:
L. PYTI IR I SH Ta &
2. FUA1 AR I ST AT
3. Y JA R, AT PYT 11 A ©
4, BYUA 1 3 8. dich= BUA 1§ ¢
Options :
686340151461. 1
686340151462. 2

686340151463. 3
686340151464. 4

Question Number : 67 Question Id : 68634038351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following expression holds good for Freundlich adsorption isotherm.

—=kp
m
i1
3 i:knpn
m
3 i=kpz



Options :

686340151465. 1
686340151466. 2
686340151467. 3
686340151468. 4

Question Number : 67 Question Id : 68634038351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafea § 9 oF 91 s Bisfas =i gqdard & fou 98l e

]' i:k‘!‘j
m
11
2 i:knpn
m
m
R
4. x _[kl»
m i\pJ
Options :

686340151465. 1
686340151466. 2
686340151467. 3
686340151468. 4

Question Number : 68 Question Id : 68634038352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Concentrated HNO; is colourless but often turns yellow on keeping.
Reason R: Photo chemical decomposition of HNO; gives NO,.

In the light of the above statements. choose the meost appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

| B

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R 15 correct

Options :



686340151469. 1
686340151470. 2
686340151471. 3
686340151472 4

Question Number : 68 Question Id : 68634038352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 T2 QU U B, U S U (Assertion A) & =0 H [A1Ed § T G-I 39% BRI (Reason R) &
0o

SHTUDHYT A: Fifgd HNO; Ve BIdl & Siich 3& U= (e Uleil 51 Sl 6|

®RYT R: HNO; & YHRREMMS $J€e 4§ NO, W< Bidl 8|

SURIGd ®UY & 31elle H, [ 3 7T fabedl § § 969 IUgad SR &I 99 BT
1. A IR R EFI 981 € SR R. A D] el SR &

2. A SRR a1 981 € SR R A &1 Wel e el 8

AT AT R TS AR

4 AGEITE e PR TEI ©

Options :

686340151469. 1
686340151470. 2
686340151471. 3
686340151472. 4

%]

Question Number : 69 Question Id : 68634038353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 1T

LISTI LIST II

Carbonyl compounds react with

AL
vlide to form alkene.

K etone reacts with zinc-mercury
B. jpmalgam in HCI as reducing agent| II. |[Clemmensen Reduction
to form alkane.
(Carbonyv] compounds react with
C. |basic solution of hyvdrazine as III. |Wittig Reaction
reducing agent to produce alkane.
Formaldehyde react with NaOH to
form methanol.

1. |Canmizzaro Reaction

|3 IV, [Wolf-Kishner Reduction

Choose the correct answer from the options given below:
1. A-IV, B-III. C-II. D-I
2. A-IV. B-II. C-I. D-III
3. A-IIL B-IL. C-IV, D-I
4. A-I. B-II. C-IIL D-IV

Options :

686340151473. 1
686340151474.2
686340151475. 3
686340151476. 4

Question Number : 69 Question Id : 68634038353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=il 11 gl 11 9 B siferg

a1 T 1T
EHTEl dIRiE wEs & 9y Sy
A T L [BaRl ffesa

HCLH [S-Hb ST U & ]
B. [=U H e Garfifpar id Tedb 1L [oeiEe =g
EEIGIE

BIE-d AIE g E & TUH
C. [erESroia & &R faead- o |1y 1. [l sifufemar
il § Tehd a1dT 6 |

B ICeeIsS NaOH @ 91y fTHhar §
A g B

FafaTRad [9oeal § O 9ol 39 &1 994 Dol -

1. A-IV. B-III. C-II. D-1

D

IV. ([Gep-fhaR Sfo=dH

b2

CA-IV, B-I1L C-1, D-III

AL B-IIL C-TV. D-I

%]

4 A-L. B-II. C-III. D-IV

Options :

686340151473. 1
686340151474. 2
686340151475. 3
686340151476. 4

Question Number : 70 Question Id : 68634038354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
The bond enthalpies for C-H. CI-CL C-Cl and H-Cl are 99. 58. 78 and 103 keal/mol respectively. What will be
the AH for the reaction

CHgy ™ Clify) ~+ CRaCl g+ HC

1. -24 keal

| o

. —26 keal
3. =23 keal
4. —32 keal

Options :

686340151477. 1
686340151478. 2
686340151479. 3
686340151480. 4



Question Number : 70 Question Id : 68634038354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C-H. CI-CL C-C1 3R H-C1 P 3T T HH: 99, 58. 78 31103 keal/mole & | 59 Sfifhar & forw an
BT

CHyg)  Clagy — CH3 Cly) + HClgg
1. —24 keal
2. —26 keal
3.—-23 keal
4. -32 keal
Options :

686340151477. 1
686340151478. 2
686340151479. 3
686340151480. 4

Question Number : 71 Question Id : 68634038355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the elements of Lanthanoid series often exhibit +4 oxidation state.

1. Ytterbium

2. Lanthanum

3. Gadolinium
4. Cerium

Options :

686340151481. 1
686340151482. 2
686340151483. 3
686340151484. 4

Question Number : 71 Question Id : 68634038355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafeiRed 3 9 TUA1TS 4aa1 &1 i I ad R +4 STRIE0 Saw o) G2idl 87

1. gexfeTn
2. WAy

3. Tisifefay
4. Fafeam

Options :

686340151481. 1
686340151482. 2
686340151483. 3
686340151484. 4

o

Question Number : 72 Question Id : 68634038356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statement is not correct regarding five membered heterocyelic compounds?

1. Furan is least aromatic m nature among furan. thiophene and pyrrole.

| S]

. Thiophene can have more number of canonical structures using 3d-orbitals.

L¥ 5]

. Pyrrole has maximum double bond character among furan, thiophene and pyrrole.
4. Furan. thiophene and pyrrole can be synthesized using Paal-Knorr synthesis.

Options :

686340151485. 1

686340151486. 2

686340151487. 3
686340151488. 4

Question Number : 72 Question Id : 68634038356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
fFafifed ¥ 9 1 91 oy uid geed fawres g difte & de 8 wel 381 o0
R, YT a1 OTERid 8 9 W3 9ad o0 WS pla a18 |
YTATHH 3d BED] BT IUTN Fap AU IS e 7@ &l &
3. TRIA, YT 3R OISR & § UIeXid &1 Sffiean g 707 & giar g |
4, TR, 4TI SR UTSRId DI UTe-A1X SLel0T & WOFT § SRt 65 o Sl o

i

| )

Options :



686340151485. 1
686340151486. 2
686340151487. 3
686340151488. 4

Question Number : 73 Question Id : 68634038357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are acetals?

o
e
0]
@]
1O\
o OH

(111) OCHj,4
0
s 0
(1v)
(@]
1.Tand II

2. 101 and IV
3.1 and III

4. Tand IV

Options :

686340151489. 1
686340151490. 2
686340151491. 3
686340151492. 4

Question Number : 73 Question Id : 68634038357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafeaied & 3 o 9 wiica g2

®]
e
o
o
1O\
(@] OH

(i) OCHy

(i)

1.I3R I
2.1 3R IV
3.13R
4. 13RIV

Options :

686340151489. 1
686340151490. 2
686340151491. 3
686340151492. 4

Question Number : 74 Question Id : 68634038358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A nitrogen containing compound dissolves in 10% aq. sulphuric acid. The Hinsberg test gives a solid product
that 1s not soluble in 10% aq. NaOH. Which one of the following compounds best fits the above facts?

1. N. N-Dimethylaniline

2. N-Methylbenzamide

Lad

. N-Methylaniline
4. Benzylamine

Options :

686340151493. 1
686340151494. 2
686340151495. 3
686340151496. 4

Question Number : 74 Question Id : 68634038358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Alge o gad Aie 10% Solid GeRIR® 3 § ga ol ¢ | feue uxien 9 us 819 Sdrg uid
gﬂ%‘.ﬁﬁ 10% NaOH o gereia et &1 Fefafad & 9 o w difte saa aut & 9o # 9ad 3ogad

—

N, N-SEHUE uHEE
 N-HfeeemE S

. N-HIUE U=

. difere vdiA

| B

L&Y ]

H=s

Options :

686340151493. 1
686340151494. 2
686340151495. 3
686340151496. 4

Question Number : 75 Question Id : 68634038359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



At 20°C pure water requires 102.2 seconds to flow through the capillary of an Ostwald Viscometer while

toluene at 20°C requires 68.9 seconds. Caleulate the relative viscocity of the toluene. Densities of water and

£

toluene are 0.998 and 0.866 g cm - respectively.

1. 1.709 poise
2. 0.585 poise
3. 1.287 poise
4. 1.170 poise

Options :

686340151497. 1
686340151498. 2
686340151499. 3
686340151500. 4

Question Number : 75 Question Id : 68634038359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

20°C R U SHRCATES WHAMHAIY ST SR I G5+ $ oY [0S url 31 102.2 955 & 7T B
TR 8. T CIeg Bl 68.9 Uehs i | SIed 1 HIATY Tl 1 UM HifoTg | T iR eg &
TTcd SHHTT: 0.998 3R 0.866 £ cm™ B

1. 1.709 poise

b

. 0.585 poise

[F¥]

. 1.287 poise
4. 1.170 poise

Options :

686340151497. 1
686340151498. 2
686340151499. 3
686340151500. 4

Question Number : 76 Question Id : 68634038360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the effective atomic number (EAN) of {Cd{;\ZH3]4]2_

1.48

| S

.46

3. 54

4. 56
Options :
686340151501. 1
686340151502. 2

686340151503. 3
686340151504. 4

Question Number : 76 Question Id : 68634038360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[CA(NH;),]*~ T IHTd] RATIL-HHF (EAN) © -

1.48

(]

.46
3. 54
4.56

Options :

686340151501. 1
686340151502. 2
686340151503. 3
686340151504. 4

Question Number : 77 Question Id : 68634038361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The dissociation constant of bromocresol purple indicator is 3.981 % 1077 at 0° C. The indicator when added to
a buffer solution gave a colour matched with 50% basic colour and rest matched with acidic colour. The pH of
buffer is: [log 3.98 = 0.5999]

1.7.40

-2
L
[ )
L

I
L
T
=



Options :

686340151505. 1
686340151506. 2
686340151507. 3
686340151508. 4

Question Number : 77 Question Id : 68634038361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0° C WR 9 fordid AT ae ol [qgied RIS 3.081 x 107 §1 U a9 [dag- 4 [Bdr & U g9
3 Sl T WIS G, T8 50% &R 1Y T 4 fHerdl 8 Sl U 3efg 31 9 el € | 9% &1 pH ©:

[log 3.98 = 0.5999]

1. 7.40

b

. B
3.6.40

4.5.40

Options :

686340151505. 1
686340151506. 2
686340151507. 3
686340151508. 4

Question Number : 78 Question Id : 68634038362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The type of isomerism displayed in following pair of compounds is
[Co(NH3)g] [Cr(C204)3] and [Cr(NH;z)5] [Co(C304)3]
1. Coordination isomerism
2. Linkage 1somerism
3. Ionization isomerism
4. Geometric isomerism
Options :
686340151509. 1
686340151510. 2

686340151511. 3
686340151512. 4

Question Number : 78 Question Id : 68634038362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



giffest o1 fFufaiRaa oisT forg weR &t gaggadr &f i 82

[Co(NHj3)g] [Cr(C304)3] and [Cr(NH3)g] [Ca(C;04)5]

1. SUHEHgo gaagad!

2. §eH1 gHIgaddr

3. AT HHIGgddI

4. SOIfHATT gHIGgadl

Options :

686340151509. 1
686340151510. 2
686340151511. 3
686340151512. 4

Question Number : 79 Question Id : 68634038363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following compounds on reaction with two moles of Grignard reagent followed by acidic
hydrolysis does not give tertiary alcohol?

1. Ethylacetate

[ ]

. Acetyl chloride

LF¥]

. Methyl formate
4. Acetic Anhydride

Options :

686340151513. 1
686340151514. 2
686340151515. 3
686340151516. 4

Question Number : 79 Question Id : 68634038363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



FrafeiEa o 9 & H 91 diffte BeErs sifimries o gl am upsi & 1y i & SWRid sy
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1. Ofde Ufiee
e wirgs
3. Aftd wide
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[

Options :

686340151513. 1
686340151514. 2
686340151515. 3
686340151516. 4

Question Number : 80 Question Id : 68634038364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

How many signals are shown by the following compound in the NMR spectra?

Cl

OH

NO,

I
| )

4.4

Options :

686340151517. 1
686340151518.2
686340151519. 3
686340151520. 4

Question Number : 80 Question Id : 68634038364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Cl
OH
NOs
1.1
22
3.3
4.4
Options :

686340151517. 1
686340151518. 2
686340151519. 3
686340151520. 4

Question Number : 81 Question Id : 68634038365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What will be the final product of the reaction of borax with aqueous hydrochloric acid (HCI)?
1. B5O;
2. NaBO,
3.H;BO;

4.BCl

Options :

686340151521. 1
686340151522.2
686340151523. 3
686340151524. 4

Question Number : 81 Question Id : 68634038365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SR 3R el grRglaaiRG 3 (HC) B sifiifsha o1 3ifaq Sarg & gm

1. B,0;

[ )

.NaBO,

L¥%]

. H;BO3
4. BCl4
Options :
686340151521. 1
686340151522. 2

686340151523. 3
686340151524. 4

Question Number : 82 Question Id : 68634038366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The first order diffraction from (110) plane of KCI observed using X-ray of wavelength 150 pm and edge
length of unit cell i1s 305 pm., then glancing angle is equal to -

[9in 20.35° =0.3478
sin 38.35° = 0.6205
sin 40.35° =0.6475
sin 18.35° = 0.3148]

1.38.35°

| B}

. 20.35°
3.40.35°
4. 18.35°

Options :

6863401515251
686340151526.2
686340151527. 3
686340151528. 4

Question Number : 82 Question Id : 68634038366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TFI-Y & 150 pm TI-080 & STAFT Y KC1 F (110) THAW T TYH Hife fGad dfda giar 81 afs tes Ja
% Yol &1 TETs 305 pm © O U] /0] [HH$ SRIET o -

[sin 20.35° =0.3478

sin 38.35° =0.6205
sin 40.35° =0.6475
sin 18.35° =0.3148]

1.38.35°

[ )

.20.35°
3.40.35°
4. 18.35°

Options :

686340151525. 1
686340151526. 2
686340151527. 3
686340151528. 4

Question Number : 83 Question Id : 68634038367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What will be the splitting pattern of NMR. signals of 1, 2-Dibromoethane in increasing order of 6 values?

1. Triplet followed by triplet

2

. Doublet followed by doublet

L]

. Triplet followed by doublet
4. No splitting

Options :

686340151529. 1
686340151530. 2
686340151531. 3
686340151532. 4

Question Number : 83 Question Id : 68634038367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1.2-SIEaHEY & NMR Jddd! &1 f[aure- Uid=d & 5 911 &1 g¢dl H B
1. fewie fine fowie

S&ic [ S&Ic

| )

;e

3, fowie e Sw&ie

4, flqures =8t g

Options :

686340151529. 1
686340151530. 2
686340151531. 3
686340151532. 4

Question Number : 84 Question Id : 68634038368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The decomposition of CaCO; in a closed vessel is represented by the equation
CaCOj; (s)= CaO(s) + CO, (g)

Calculate the number of phases. components and degree of freedom

Lp=2.L=3;F=3
2p=3:C=2:F=1
Jp=2:C=2.F=2

-
=

4.p=3:C=3,F

Options :

686340151533. 1
686340151534.2
686340151535. 3
686340151536. 4

Question Number : 84 Question Id : 68634038368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U 92 Fom H Caco, & HT9e i yeikia $ ara gHiioru g
CaCO; (s)== CaOf(s) + CO, (g)
TTaeT3], Sued] 3R Waadl &1 Sifcdl S W@ & T0ET DI

lL.p=2: €=3:F=3

2bp=3; C=2F=1
J.p=2:C=2:F=2

Options :

686340151533. 1
686340151534. 2
686340151535. 3
686340151536. 4

Question Number : 85 Question Id : 68634038369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following form square planar complexes

A [AuClL]™
B. [RhCI(PPh;);]

C. [NiBr,]*
D. [FeCl ]~
Choose the correct option:
1. A and B only
2. C and D only
3. Aand C only

4. B and D only

Options :

686340151537. 1
686340151538.2
686340151539. 3
686340151540. 4

Question Number : 85 Question Id : 68634038369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafad o 9 oH- 91 9 gradl Hd 99 62

A [AuCl;]™
B. [RhCI(PPh;);]
C. [NiBr4]*~
D. [FeCl,]*~

e faU U fasedi I ¥ el SR &1 99 B
1. %ad A 3R B

. @ad C AR D

3.%aqASRC

4.%dd B 3R D

Options :

686340151537. 1
686340151538. 2
686340151539. 3
686340151540. 4

| B

Question Number : 86 Question Id : 68634038370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Calculate the number of moles of carbon mono oxide in the following reaction

CH3CH,CHO —™ 5 CHyCH; +CO

If the light irradiated has & = 3020 A°. the quantum yield of reaction 0.54 and the light energy absorbed is
15000 erg in a given time.

1.3.26 x 102 mol

| ]

. 2.04 % 107 mol
3.1.04 x 10~ mol

4.2.56 x 1072 mol

Options :

686340151541. 1
686340151542. 2
686340151543. 3
686340151544. 4

Question Number : 86 Question Id : 68634038370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

frafaRaa sififea & oe= 9 sifaags & gidl & 98 101 Bifs:

v

CH;CH,CHO —™ 5 CH;CH; + CO

3R 99 gAY H B0 Uar2 &1 ) = 3020 A° ©. fUlhar &t sicH afel 0.54 € 31X a9iftd uerw
Tl 15000 erg B

1.3.26 % 1072 mol
2.2.04 x 10~ mol
3.1.04 % 107 mol

4.2.56 % 1072 mol

Options :

686340151541. 1
686340151542. 2
686340151543. 3
686340151544. 4

Question Number : 87 Question Id : 68634038371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The conversion of diamond to graphite at room temperature and pressure 1s spontaneous
(AG® =-2.90 kI mol™1)

Statement IT: The electrical conductivity of graphite perpendicular to the plane is low. whereas parallel to the
plane is very high.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct

[ )

. Both Statement [ and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement [ is incorrect but Statement II is correct

Options :

686340151545. 1
686340151546. 2
686340151547. 3
686340151548. 4

Question Number : 87 Question Id : 68634038371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Correct Marks : 4 Wrong Marks : 1

e g A fRu e B
PYA: HHL & a0 I 3R 316 92 g1¥ B UBI5e H SUIaRU WGa: 8T 6 (AG® =—2.90 kI mol™})

HYH I1: TH1EC B [dggd Iaad] 9Had & aradd o U &H oidl 6. odid SHdd & THR 8 1)
Sgd g el o

IWRIad FYF & fdld 1, 4 (U U [dhedi § I ol 3O &1 98949 DI
L. BEINRNEA 90§
2. PYA 1 AR I IA AT S

3. PYT I g . AfT YT I T ©

A, PYT I3 e, AT U I I &

Options :

686340151545. 1
686340151546. 2
686340151547. 3
686340151548. 4

Question Number : 88 Question Id : 68634038372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following compound is not an alkaloid.

1. Nicotine

J

. Paracetamol
3. Reserpine
4. Cocaine

Options :

686340151549. 1
686340151550. 2
686340151551. 3
686340151552. 4

Question Number : 88 Question Id : 68634038372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFraffEaa § Y & H T difte U6 Tebalss el 8
IMECAGE!
3. ?EQQIQH
4. DI
Options :
686340151549. 1
686340151550. 2

686340151551. 3
686340151552. 4

Question Number : 89 Question Id : 68634038373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A liquid having molar mass of 50 g mol™! boils at 80°C. If the latent heat of vapourization is 500 cal g1, the
molar entropy of vapourization 13

1. 70.8 cal K-lmol™?

.312 cal K~ lmol™?

| ]

.1.42 cal K- lmol™!

[F¥]

4.25.3 cal K~lmol™!

Options :

686340151553. 1
686340151554. 2
686340151555. 3
686340151556. 4

Question Number : 89 Question Id : 68634038373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



50 g mol™! & TTH 3U[E ZoHH aTa] U &4 80° C TR Iaadl & | 3FR AT &1 W ST 500 cal L B, a1
ATy &1 UTH U@ T 1! g

1. 70.8 cal K- lmol™!

| B

312 cal K-lmol™!
3.1.42 cal K lmol™!

4.25.3 cal K~ mol™!

Options :

686340151553. 1
686340151554. 2
686340151555. 3
686340151556. 4

Question Number : 90 Question Id : 68634038374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oxidation state of Sulphur in dithionite and dithionate ions are respectively

1.+3 and +4

J

.+4 and +3
3.+3 and +5
4. +5 and +3

Options :

686340151557. 1
686340151558. 2
686340151559. 3
686340151560. 4

Question Number : 90 Question Id : 68634038374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIEUTIHISE 3R SEUHTE 30+l H Jeh & AaHiH 0l G HH: &

1.+3 AR +4
2. +4 3R +3
3.+3 3R +5
4.+5 3R +3



Options :

686340151557. 1
686340151558. 2
686340151559. 3
686340151560. 4

Question Number : 91 Question Id : 68634038375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T

LISTI LISTII
A Vi ST;”?{E —V)p =0 | L [Planck
2
B.|FE=hv II. [Heisenberg

h
c |Ax - Ap e 4— 111 [Schrodinger
T

D.|A=— IV. |de Broglie

Choose the correct answer from the options given below:

1. A-TIL B-1. C-IV. D-II

| ]

CACIIL B-LL C-IL D-IV

AL B-11L C-1, D-IV

L¥¥]

4. A-I. B-II. C-II. D-IV

Options :

686340151561. 1
686340151562. 2
686340151563. 3
686340151564. 4

Question Number : 91 Question Id : 68634038375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



=il 11 4l 11 9 [ iy

il o
A V3 —ST;’”{F—F}&,&- =0 | 1L |<f®
')

B | =hv I | greert
CAx-Ap =2 — IIL | &R
47
h .

D.|A=— v | g sich
P
fafafad fameai § O Ugl 3 &1 994 ST
1. A-IIL. B-I. C-IV. D-II

2

. A-IIL B-1. C-II. D-IV

3. AL B-11, C-1. D-IV
4 A-L. B-III. C-II, D-IV

Options :

686340151561. 1
686340151562. 2
686340151563. 3
686340151564. 4

Question Number : 92 Question Id : 68634038376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Determine the Miller indices for a plane when the intercepts along the axes are 2a, 3b and 2¢

18238

]

(1,1,.1)
% (2 5.2

4. (3.

[

.3)

Options :

686340151565.
686340151566.
686340151567.
686340151568.

AW N =

Question Number : 92 Question Id : 68634038376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U 4 & [HaR HeH! BTy Sifoe, 5F 8@ O 24, 3b 3R 2¢ & 3id: S ¢

1. (3.

[

.2)

|

1)
3.(2.3.2)
4.(3.2.3)

Options :

686340151565.
686340151566.
686340151567.
686340151568.

AW N~

Question Number : 93 Question Id : 68634038377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Using Slater's rule, the shielding constant and effective nuclear charge for the outermost electron of Mg are
respectively.

1.9.10 and 2.90

[ )

.9.15 and 2.85

.8.15 and 3.85

Lad

4.9.10 and 3.90

Options :

686340151569. 1
686340151570. 2
686340151571. 3
686340151572. 4

Question Number : 93 Question Id : 68634038377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wex & a8 & 3ER Mg & 9ad g gadeid &1 uRRe0] fRRi® iR gurd A1fi@ iy s1aw Hu: ¢

1.9.10 3 2.90

| E)

.9.15 37T 2.85
3.8.15 31X 3.85

4.9.10 3T 3.90

Options :



686340151569. 1
686340151570. 2
686340151571. 3
686340151572. 4

Question Number : 94 Question Id : 68634038378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The energy required for various electronic transitions follow the order
* W # %
lLe—>06 >n-6 >n—71 >n—n
5 w W e W
= 0—0 >N—0 >N—0 >N—0

% kS e
-7 >n—=1rfro—0 >N—0

# W *
4 nonrt>0—>0 >N—-0 >T—T

Options :

686340151573. 1
686340151574. 2
686340151575. 3
686340151576. 4

Question Number : 94 Question Id : 68634038378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafTra faggdia Hepaull & AU Saxa® Gel &l 9l oY o

&

e *
.50 >n—-06 >n—n >n—>n*

| B

* " ® ®
‘O0—0 >N—70T >N—0C >N—T7

£ £ e
.T—T >n—=nf>c—20 >n—-06

[F¥]

*

W %
4 p—->r1tt>0—=0 >N—-0C >N—T

Options :

686340151573. 1
686340151574. 2
686340151575. 3
686340151576. 4

Question Number : 95 Question Id : 68634038379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following is wrong statement?

1. Haemoglobin consists of a tetramer of myoglobin like subunits with four iron sites.

| S

. All four Fe sites present in haemoglobin bind with oxygen during oxygen transport.
3. Myoglobin contains no Fe atom in 1t.
4. Haemoglobin is an oxygen transport protein and myoglobin is an oxygen storage protein

Options :

686340151577 1
686340151578. 2
686340151579. 3
686340151580. 4

Question Number : 95 Question Id : 68634038379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fefrfea g Iem T oy Taa g2

1. fediviifed & IR 31a™A Rl ardd 3U-U® 31 dvg Hradiie- & Ud Iqyd (S2HR) gidl o
2. SfiFHoF AT & SR GHrdies § 3ufeyd 91t IR1 Fe R@ iaoq 4 98 90 5
3. ATele H Fe URHTY] 81 81d |

4. femeilfe U SfiqdisT SHTH W § SR Hiuveife Us SifaHion SUgu widH 8|

Options :

686340151577. 1
686340151578. 2
686340151579. 3
686340151580. 4

Question Number : 96 Question Id : 68634038380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Identify the correct statements applicable to rotational spectroscopy.
A. It lies in the microwave region
B. The molecules must have permanent dipole moment

C. The selection rule is AJ =2
D. Only one transition 1s observed at room temperature.

Choose the correct answer from the options given below:
1. A.B and C only
2. Aand D only
3. Aand B only
4.B. Cand D only
Options :
686340151581. 1
686340151582. 2

686340151583. 3
686340151584. 4

Question Number : 96 Question Id : 68634038380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ui T ie! IR UgEd 81 a1 Hel YT B UgaH DI
A. U% &9 T 87 5 3ed g
B.&@ﬁ@@ﬂtﬁﬁ-?&ﬂqﬂfmﬂml

|

C. 99 g AT=+2

D. HIR & d/Y R $Had U JHH0 HEd gl ¢ |
i< fdu U f[dored] 5 O Ol 3R &1 90 Bl

1. #FaAA B AR C

2. FaAAARD

3. PaAARB

4. HAEB. C AR D

Options :

686340151581. 1
686340151582. 2
686340151583. 3
686340151584. 4

Question Number : 97 Question Id : 68634038381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Treatment of 1-Methyleyclohexene with an ether solution of diborane (B,Hg). followed by reaction with

alkaline H,0, produces which of the following product?

et

. 1-Methyleyclohexanol

2

. cis-1-Methyleyclohexane-1.2-diol

L)

. cis-2-Methyleyclohexanol
4. trans-1-Methylcyclohexane-1.2-diol

Options :

686340151585. 1
686340151586. 2
686340151587. 3
686340151588. 4

Question Number : 97 Question Id : 68634038381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- HTS TG = PI SIEaRA (B,H,) & 5UR [damH ¥ i #3d © IR &R 1T 1,0, T il
& & TRy FefaiEd O O o 91 98 39d Bl o7

1-HfUTaEadedEd

[T - AfTgETaeadH-1.2-S530d

—t

2

LY

RO O s R DUTG B L R s BT

4. g1 - BaOEEIeRA-1,2-Sg 1A

Options :

686340151585. 1
686340151586. 2
686340151587. 3
686340151588. 4

Question Number : 98 Question Id : 68634038382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: cyanide and phosphorus trifluoride ligands stabilize metals in low oxidation states.
Reason R: Cyanide and phosphorus trifluoride ligands are excellent m-acceptor ligands.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct but R is NOT the correct explanation of A

. A is correct but R is not correct

L¥¥]

4. A iz not correet but R is correct

Options :

686340151589. 1
686340151590. 2
686340151591. 3
686340151592. 4

Question Number : 98 Question Id : 68634038382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 3l P2 (U T §. U SUPHUT (Assertion A) B =0 H [ § Gl THI 3TDH BRI (Reason R) B
O H:

HTUFYT A: TOAES IR BIEPRY RIIRIES [0S [ HIFHIHR0 awiTaf H o & WS H 6 |
PRI R: YIAES 3R BRHRY cRaRlss [iis 309 - ael s gid gl
SURIGd DU & 3f7elie §, A & 7y fae el O 9 969 SUged STk &1 994 Hifu:
1. A 3R R M1 U6l & SR R. A D! g! RS &
A SRR EF U8 § IR R A DI UE! ARAT 81 &
AT AT R TS SR
AR TEI e APIR W ©

Options :

686340151589. 1
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Which of the following complexes are diamagnetic complexes?
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. [Fe(bipy)s]*™

| ]

; [Fe(phe11j3]2_

3. [NiFg*

4. [CoF4l*"
Options :
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The correct statements for second law of thermodynamics is/are

A. Heat does not flow spontaneously from a cool body to a hotter body

B. The entropy of perfectly crystalline substance is zero at 0 K.

C. No process 18 possible in which the sole result is the absorption of heat from a reservoir and its complete
conversion to work.

D. For a spontancous change AS, .1 =0

Choose the most appropriate answer from the options given below:
1. A. B and C only
2. A.Band D only
3. Aand B only

4. A. C and D only

Options :
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